= ([
N = 0l & AF & F Al A
20121 2OI& YEHSIH FOHQIZXI D ~ FOHOI=X Dt
SN EOjOI= R Bt
o Zojol =X
el Fojel =X (9l &2
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
0§01 = X) 3t 85,541,330 75,241,715 10,299,615
2 46,981,460
| 3,481,000
= 18,011,360
= 7,067,510
Zojel =ZXEX 85,496,860 75,177,915 10,318,945
2 46,981,460
] 3,481,000
= 8,011,360
= 17,023,040
Zojol 2XSH 32,948,227 28,917,431 4,030,796
2 26,742,428
] 2,119,340
= 4,086,459
HojoIe 2 X 22,348,342 18,058,384 4,289,958
2 19,802,328
= 2,546,014
308 XHXIEHHI S 0| 22,348,342 18,058,384 4,289,958
2 19,802,328
= 2,546,014
01 IXISHBAEES 22,348,342 18,058,384 4,289,958
OFoHeIZ X2 22,348,342
2 19,802,328
= 2,546,014
Boj4g X 6,078,860 5,844,372 234,488
2 5,386,332
= 692,528
308 XHXIEHHI S 0| 6,078,860 5,844,372 234,488
2 5,386,332
= 692,528
01 X SHZABES 6,078,860 5,844,372 234,488
OZW+X 6,078,860
2 5,386,332
= 692,528
Zojol o2l X 1,337,818 1,683,803 A345,985
2 1,244,482
= 93,336
308 XA S S 0| & 1,337,818 1,683,803 345,985
2 1,244,482
= 93,336
01 X SHZABES 1,337,818 1,683,803 345,985
OZofoIol 2| 1,337,818
2 1,244,482
= 93,336
Zojol HADFH N 38,137 67,824 £29,687
2 35,476




SH: DOHRI= X
M3 Foje 2XNSH

o2l ZoHel XS (9 E2
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
& 2,661
308 AHXIEHHI S 01 ™ 38,137 67,824 A29,687
2 35,476
& 2,661
01 XA EEZ 38,137 67,824 A29,687
OF eIt W= 44,345,000 *86% 38,137
2 35,476
& 2,661
ZoHel SE&EH XA 22,110 12,050 10,060
= 22,110
308 AtXIEHM SOl 22,110 12,050 10,060
= 22,110
01 XA EEZ 22,110 12,050 10,060
(OFSJURIE=2=FS R sl 22,110
= 22,110
ZOHel MEotHE XA 1,975,340 2,150,568 A175,228
| 1,975,340
308 AtXIEHMI SO ™ 1,975,340 2,150,568 A175,228
J| 1,975,340
01 IXNHHBHEES 1,975,340 2,150,568 A175,228
OZ=< FItXA 535,250
J| 535,250
OR2HM=+=2 XA 535,000
J| 535,000
OENAH= HOe =Hdl XI& 364,890
| 364,890
Oss&M It sl K& 413,900
Il 413,900
OBATHOIS ABLBOIZ 42 L HEXD
gl XI& 18,000
| 18,000
OFIHOMC 2A=H| K& 20,700
J| 20,700
OO0IFHSHOML A2HA X2 39,600
| 39,600
OF A2 A 23 48,000
| 48,000
SHEZ0HC! FEONZAIY XI& 254,410 254,410 0
= 195,700
& 58,710
403 KX SHHIS A= 0[ & 254,410 254,410 0
= 195,700
& 58,710
01 AXIEH A2 2L 254,410 254,410 0
OsHEZH =S 254,410




SN

I‘I iH:

Z ool = X ot
Tojol =X

el ZoHe |XNSE

SN EE - ER(EN) - NRAY - BaS 0il &t o e HlRE2
= 195,700
= 58,710
A2l Qs A 88,000 88,000 0
307 2IZtol ™ 88,000 88,000 0
10 AlRIS X2 88,000 88,000 0
OAr ol 2l At 88,000
Zojetes X 369,600 351,810 17,790
203 R =2 7,600 0 7,600
03 A=A H R =] 7,600 0 7,600
OZMA=X StHRFA 2,850
OZOMA=X AMBR=A 4,750
307 21Ztol 305,000 351,810 A46,810
10 At S X2 X 305,000 351,810 A46,810
OZOH I &I THEH AL 70,000
OO I QIAIDH & AH 235,000
308 AtXIHMSO0I & 22,000 0 22,000
01 IXNHHEMNEXS 22,000 0 22,000
Ond&oe fFEAJAHHH 2208 K& 22,000
403 XX &M SAH=01& 35,000 0 35,000
01 tXISHNH X2 E X 35,000 0 35,000
OAlZ2 ZOHAXIASH JIsE2L 35,000
ZOHQITHEAIS KT & 144,000 204,000 260,000
Il 144,000
308 KX SHHMSOIA 144,000 124,000 20,000
Il 144,000
01 IXNHHMBAEES 144,000 124,000 20,000
OAZZ0H QI TH & AL I 144,000
Il 144,000
HOHCIE E A& AL 111,210 111,210 0
308 AtXICHM S 01 & 111,210 111,210 0
01 IXHHBHEES 111,210 111,210 0
OZe M2HA=XR 370,700,000 *30% 111,210
ZOHl WAL 70,000 50,000 20,000
= 56,000
= 14,000
307 21Ztol 70,000 50,000 20,000
= 56,000
L= 14,000
A3IZ2X 2 x 70,000 50,000 20,000
OWEZMHA WS A 70,000




SN

EOHer =Xl 1t

M e =2XSH
ool Zojol =XSA (el &2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES 0ff &+ o4 il b o bRz
= 56,000
= 14,000
DRI GARY 102,000 41,000 61,000
307 220 102,000 41,000 61,000
10 ALEI =X 2 X 102,000 41,000 61,000
OF=NIIEPO=SNE=E=" 102,000
ZOHQISR20F HHEA 7S 8,400 0 8,400
201 YBr2 | 8,400 0 8,400
01 AtR2t2IH] 8,400 0 8,400
OZOHQIZ20F HHEA 2F 8,400
Zojol N X 22,145,682 18,227,680 3,918,002
2 17,371,724
= 4,773,958
HOHANATHHAIL 2 519,819 303,491 216,328
308 XHXIEHHI S 0| 519,819 303,491 216,328
01 XS HBLRES 519,819 303,491 216,308
OFOjQl NATHEAL 29 367,499
ORMNOARATHEAIL BAX X 2HH
132,600, 0002 *20% 26,520
OZWANATHEAIL SSZHQ 25X 4
39,000, 000! *30% 11,700
OBHAMATIZAIL 2  384,000,0002*15% 57,600
OZHAXATHEAIL RENE SAK S
376,666, 0002 * 15% 56,500
DI ATHEAIZII S 2 K& 1,576,680 2,123,981 A547,301
2 1,051,120
= 525,560
403 THXISHHI S XHE 0] & 1,576,680 2,123,981 A547,301
2 1,051,120
= 525,560
01 RIXISHIXI =S X 1,576,680 2,123,981 A547,301
OBMANAMSBAL IS 1,576,680
2 1,051,120
& 525,560
ZOHQIMAE BOHAIL2Y 192,300 134,220 58,080
2 71,150
= 121,150
307 2120 192,300 134,220 58,080
2 71,150
= 121,150
10 ALEI S X 2 X 192,300 134,220 58,080
OZMHOIMAE BHIHAL 2 150,000
2 60,000




SN FOHOI=XI I
M F0He =2XSH
Sl TN KR KIR

_ _ _ Muo
SNBSS - HRAY - BHES Aboy e HIRZE2
< 90,000
OZZHUMAE BHET DS ¥ 22 X
o 20,000
OROMNUMAZTHAIL JIS2Y 22,300
= 11,150
= 11,150
ZOHQl XEME X 474,000 390,500 83,500
= 120,000
= 354,000
307 DI2+0| & 300,000 216,500 83,500
10 AbSl = X1 2 & 300,000 216,500 83,500
ORONQ KSMEBME 2% X (XH) 300,000
308 XHXISHH SO & 174,000 174,000 0
= 120,000
[ 54,000
01 HXISHAAEES 174,000 174,000 0
OO NMEHEH 2% X (2H) 174,000
= 120,000
[ 54,000
XOHOI 2 S XA 13,193,665 6,866,468 6,327,197
= 11,079,197
= 2,114,468
308 XHXISHH SO & 13,193,665 6,821,468 6,372,197
= 11,079,197
[ 2,114,468
01 HXISHBAE XS 13,193,665 6,821,468 6,372,197
OO HESXY ALY 12,503,665
= 11,079,197
= 1,424,468
OSSZ0HQ HSEE XA (FI})
1,400,000, 0002 *30% 420,000
OROjel HAZL0| &S K&
900,000, 0002 *30% 270,000
ZOHQl UXt2IANY X 2,701,995 2,185,298 516,697
= 2,087,935
= 614,060
307 DI2+0| & 308,000 385,000 ATT7,000
= 246,400
[ 61,600
10 AbSl = X2 & 308,000 385,000 AT7,000
OF2Y AI2FONQ! QOFAF TH 2 ALY 308,000
= 246,400
= 61,600
308 XXM SO & 2,393,995 1,800,298 593,697
= 1,841,535
= 552,460

o




SN

X{ ZH -
o= -

0l = X
ool =XEA

el ZOHOl KXY (eel: &
_ _ SIEN
SN B SRA(SIH) - MBAY - BAS 0 & 24 il ot o SImE=ET
01 IXISHZAEES 2,393,995 1,800,298 593,697
OFOHOl =X LRel XA 739,147
2 568,575
= 170,572
OFoHe! #H=20| N 1,654,848
2 1,272,960
= 381,888
ZOHOLS JIEXIR 3,217,417 2,841,250 376, 167
=2 2,850,876
= 366,541
308 XHXIEHI S0 & 3,217,417 2,841,250 376,167
2 2,850,876
= 366,541
01 XX EHIAEES 3,217,417 2,841,250 376, 167
OHoIS WExE 2,955,769
2 2,619,036
= 336,733
ONBARL2XHH AL L&A 261,648
= 231,840
= 29,808
ZoHol 2XI7 N 189,806 645,668 455,862
=2 111,446
= 78,360
307 ©12+0| & 70,000 550,000 480,000
NEENEES 70,000 550,000 480,000
OFHIEET A/SHE 2 70,000
308 Xt EHH S0 & 119,806 95,668 24,138
2 111,446
= 8,360
01 RXISHZA XS 119,806 95,668 24,138
OFMNUSEIT XY At 119,806
=2 111,446
= 8,360
DO 2SS S & 80,000 80,000 0
307 BI2+0| & 80,000 80,000 0
WPNEENEES 80,000 80,000 0
OFoIZRtABES 2 70,000
OA2ZQIME 2 10,000
BOHO! AlME S 30,402,951 28,032,804 2,370,147
=2 2,867,308
g 1,361,660
g 18,011,360
= 8,162,623
ZOHQIMEAE D52 X 4,081,020 4,157,244 76,224
= 2,720,680




SN
L EOH =XBH
el

X ZH
(=]

EOHer =Xl 1t

. i, Il
= 1,360,340
403 XXM S X201 ™ 4,081,020 4,157,244
= 2,720,680
= 1,360,340
01 RtXISH 2L X 4,081,020 4,157,244
OFMAMEBAIL JIsEL 4,081,020
= 2,720,680
= 1,360,340
ZOHIXIRHEH2E (RE) 404,949 404,949
&2 44,250
= 360,699
307 BI12+0I & 404,949 404,949
= 44,250
= 360,699
10 At S X2 X 404,949 404,949
OsE=stSdUEH=23 117,150
= 17,250
L= 99,900
OSEHMHAMESHHZ S 182,799
2 27,000
L= 185,799
OURSHHG7T74 MG 2 Y 5,000
OsEsOtd A HEdEHZ2S 50,000
OFgd==stusad=2Y 50,000
BOjQIHO A LSS H Y (RY) 155,804 155,804
= 36,750
= 119,054
307 2I2toI ™ 165,804 155,804
= 36,750
= 119,054
10 At S X2 & 155,804 155,804
OSHZMHUAEAANL XN ALMEHZE 100,804
= 18,000
& 82,804
OQEHJANLLEXNEYUENHRI 55,000
= 18,750
& 36,250
Zojel SEE2EAMY 2 62,000 62,000
&2 31,000
= 31,000
307 21Ztol ™ 62,000 62,000
2 31,000
= 31,000
05 QIR &= 62,000 62,000
OZel EE2EAYE 2 62,000
= 31,000




A ZOH =X 2t
X X0l 2X=X
-/ o — —/ [Ty S

ol EOjOl AlMEE CEERED
SH-EH . O3 - MBAY - BAS 0fl AF 08 Soe HRZ2
| < 31,000
HOHCIMEALE 2H 19,119,463 17,089,519 2,029,944
= 15,713,940
== 3,405,523
308 XXM SOoIA 19,119,463 17,089,519 2,029,944
= 15,713,940
== 3,405,523
01 AIXSHNBAEEZ 19,119,463 17,089,519 2,029,944
OXOOl MEAIL 2H 18,946,463
= 15,713,940
= 3,232,523
OMel ZOHQl MBAIL 29 (20
576,666, 000& *30% 173,000
SSHMWIES NS X 119,000 129,522 N~ 10,522
308 XX SISOl A 119,000 129,522 N~ 10,522
01 AXIEMBAEEZ 119,000 129,522 AN 10,522
OsZs&Me Bk 119,000
ORI K RAHSH(KE) 1,361,660 1,087,946 273,714
Dl 1,361,660
308 KX SISOl A 1,361,660 1,087,946 273,714
J| 1,361,660
01 AIXSHNBAEEZ 1,361,660 1,087,946 273,714
OANZ =g SgHH 29 514,800
| 514,800
OAlZ HOCIAMRESHNEH 29 651,860
J| 651,860
OAZ HOHQIEHOAIE XRHEH 29 195,000
Jl 195,000
HOHQIEHOIA|E & S A (XIE) 69,000 69,000 0
403 XXM S K20 & 69,000 0 69,000
01 AIXIEH X2 E X 69,000 0 69,000
OHJAEREAS 69,000
Zofel=X2 29 3,597,361 3,454,580 142,781
= 2,062,620
= 1,534,741
201 2et2 A 700 0 700
01 AtR2t2i | 700 0 700
O=2sMAMAUHS(dE=SXR) 700
307 2I12t01 A 3,586,661 3,454,580 132,081
= 2,062,620
& 1,524,041
05 QIZtREZ 3,576,661 3,444,580 132,081
OZHeIEX 2 2 (AR . &) 1,857,870




SH: EMOI=X T
M Foje SXNSH

CHol: EOHO! AIEES (crel @
_ _ SIEN
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
= 1,857,870
OANZZOI=R 2 2 875,000
ONSREOISN 2 222 155,000
OFHQISRIZ SAR HRMHA 157,140
OO FARSAL 29 160,000
= 40,000
= 120,000
OFOHQ! MII=ZXIME 2 210,000
= 116,750
< 93,250
OF0Ho ZSHEINE 2% 70,000
£ 38,000
3 32,000
OFHOI=SRZ S2URSA N 65,051
OF0H HEH3 2 26,600
10 AFBI= X2 X 10,000 10,000 0
OISR BSAR 240K 10,000
= 10,000
308 X+ XI SIS 01 ® 10,000 0 10,000
01 X SHBAEES 10,000 0 10,000
ONSZOI=X2 Hy=22 208 X 10,000
HHA=X AL AHYA0IS2 XIHAY 153,576 153,576 0
= 136,080
= 17,496
308 XX IS 01 & 153,576 153,576 0
= 136,080
< 17,496
01 X SHBAEES 153,576 153,576 0
OZHASRIAIL MHIYL0IEE X2 153,576
= 136,080
= 17,496
S 2 72,692 72,692 0
= 19,200
= 53,492
307 212H01 & 72,692 72,692 0
£ 19,200
= 53,492
10 AHEI =X 2 72,692 72,692 0
OFMOMSS 2 72,692
= 19,200
= 53,492
HHIAZTHEAIL 2 200,250 200,250 0
= 57,600
= 142,650
307 212H0I & 200,250 200,250 0




A RV RPN}
Xz FHOHol 2X=EE
—/ fe=) — il (=T

Sl OjOI AlMES (e @8
_ _ SIEN
SN-EHH . SH(BH) - HPAY - BE2 O A+ 24 il i~ o Rz
= 57,600
= 142,650
NEEEES 200,250 200,250 0
OZOQIABHEAE 2 200,250
= 57,600
= 142,650
ROHQIALBAKE XS4 bl 478,080 495,722 A17,642
307 212H0| & 54,000 54,000 0
TREETEES 54,000 54,000 0
O HOHQI0IS0I& SAKARIH& ] 54,000
308 XX EHH S 01 & 424,080 441,722 A17,642
01 KIS B A 2 X3 424,080 441,722 A17,642
OANZHHA0ISAE BAR MM
545,400, 00021 *20% 109,080
ONZEONIME A& BAKH M bl
1,575,000, 000 *20% 315,000
ZOHQITHBAIL D52 528,096 500,000 28,006
= 10,548
= 46,000
= 471,548
402 Q12X+ 0| 473,096 400,000 73,096
= 10,548
s 46,000
= 416,548
01 PIARERE 473,096 400,000 73,096
OBAST SRS (MR, 2=) 452,000
= 46,000
= 406,000
OZ B HBALIISRY 21,096
= 10,548
= 10,548
403 XX I S K20l & 55,000 100,000 A 45,000
01 XX SRR = 2 X 55,000 100,000 45,000
OBASXZ IS 15,000
OROHAZTIAIL J|s2Y 40,000
HHSAZH (FOHQI =X ) 44,470 63,800 £19,330
p[EEL] 44,470 63,800 19,330
=B (RN =X 44,470 63,800 19,330
201 L2 Y| 20,900 30,400 A9,500
01 ALR 2l 20,900 30,400 9,500
SENIEP =SS 20,900
202 01t 20,570 29,200 8,630
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